
Assembly Manual  Rev 1                         STORM 500 R.G.                               Copyright@ S.G. Aviation  
WING ASSEMBLY –  Retractable Landing Gear 

 
 
 
FITTING THE RETRACTABLE MAIN GEAR 
FLANGE 
 
Main retractable landing gear are installed before riveting the 
inboard leading edge and  the inboard bottom skin of the wing. 
The first step is to install the flange SL501000-01-02  to the 
main spar (DWG Fase 11 – Step 11 and DWG Fase 11-1 Step 
11-1 ).This flange is bolted to the main spar with bolts M5. 
We suggest to install the flange when the RH and LH Main 
spars are assembled  and before to install the wing ribs. 
 
      Locate the flange, clamp and mark its position. DWG Fase 11-1 Step 11-1 show the exact position of the 
flange, holes and dimensions.Datum point is the first hole M5 of the spar. 
After having locked everything in the right position, put the spar on plane . 
     Start drilling with a drill press or an electric drill with a  3,2 mm drill, lubricate with water/oil during the 
drilling. 
Proceed this way:  make the four external holes diagonally to the flange, Special attention must be given to 
drilling the four holes and the following. 
      If you do drill a 
wrong hole into the 
reinforcing bar , you 
have compromised 
the strength of the 
spar to an unknown 
extent, and there may 
be no practical 
repair. 
 
      When you are 
convinced that the flange 
coupling is correct, drill 
these holes 4 mm ,insert 
four 4 mm bolts to lock 
the pack to be drilled in a 
safer way. 
      Now drill all the holes 
to 3,2 mm, then  4 mm, 
then  4,8 mm; with a low 
revolutions number (350-
500 rpm) you must now 
ream to  5 mm. 
      Remember to use 
sharp drills, do not feed 
too much during the drilling, and always lubricate.  If you are drilling manually, you better let a friend help you 
to make sure you are working perpendicularly. 
Install the bolts  M5, whashers and SL nuts M5 ( Check the length of the bolts, must be the same indicated 
on DWG) d remove the four 4 mm, drill to 5 mm with the same procedure  install  the 4 bolts M5  to complete 
your work. 
 
See DWG  Fase 11 – Step 11  DETAIL A – B – C – D – E – F 
 
Tightening Torque bolts M5 :  Go to the table below. 
 
 
 
 
 
 



Assembly Manual  Rev 1                         STORM 500 R.G.                               Copyright@ S.G. Aviation  
WING ASSEMBLY –  Retractable Landing Gear 

 
 
 
 
 
 
 

Dimensions  
Profile ISO  

Torque : Nm 
Value :    Nm 

Diameter  Pitch (milimeter) 8.8  
 
M3 (3 mm) 
 
 
 
M4 (4 mm) 
 
 
 
M5 (5 mm) 
 
 
 
M6 (6 mm) 
 
 
 
M8 (8 mm) 
 
 
 
M10 (10 mm) 
 
 
 
M12 (12 mm) 

 
 
 
 

 

 
0.5 

 
 
 

0.7 
 
 
 

0.8 
 
 
 

1 
 
 
 

1.25 
 
 
 

1.5 
 
 
 

1.75 
 
 
 

 

1.09 
 

1.34 
 

2.49 
 

3.04 
 

4.99 
 

6.00 
 

8.44 
 

1043 
 

20.3 
 

24.94 
 

40.81 
 

50.31 
 

69.45 
 

85.66 
 
 

 
 
 
 
 
 
 

 
 
 
 

TABLE of  TIGHTENING TORQUE   8.8 
 
 



Assembly Manual  Rev 1                         STORM 500 R.G.                               Copyright@ S.G. Aviation  
WING ASSEMBLY –  Retractable Landing Gear 

 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



Assembly Manual  Rev 1                         STORM 500 R.G.                               Copyright@ S.G. Aviation  
WING ASSEMBLY –  Retractable Landing Gear 

 
 
 
 
 
 
 
 

 

 
D ETAIL  D

 
DETAIL  A

 
D ETAIL  E

 
DETAIL  B

D ETAIL  C
 

 
DETAIL  F

1

1

2

2

3

3

4

4

A A

B B

C C

D D

MONTAGGIO ALA - WING ASSEMBLY

FASE 11 - STEP 11
1 1 

 C

S.G. AVIATION                                         S TORM RGAdriano Ippati 29/07/2004

  

  

  

THIS DOC UMENT C ONTAINS PROPRIETARY 
INFORMATION AND IS FUR NISHED IN 
CONFIDENCE  UNDER  THE E XPR ESS 
UNDER STANDING T HAT NEITHER  IT NOR 
ANY R EPRODUCTION MAY BE  USE D FOR  
ANY PURPOSE WITHOUT PERMISSION IN 
WRITING FR OM S. G.  AVIATION SR L T O THE  
USER.

D

A

E

B

C

F

1 1 SL501 000-0 1-02 M ai n G ear Supp ort Lh
2 4 KR501 00-02 W ASH ER 5 x15x1,5
3 4 KR501 00-02 BO LT M 5x50
4 4 KR501 00-02 W ASH ER 5 x15x1,5
5 4 KR501 00-02 SELF  N UT M 5
6 3 KR501 00-02 W ASH ER 5 x15x1,5
7 3 KR501 00-02 BO LT M 5x45
8 3 KR501 00-02 W ASH ER 5 x15x1,5
9 3 KR501 00-02 SELF  N UT M 5
10 3 KR501 00-02 W ASH ER 5 x15x1,5
11 3 KR501 00-02 BO LT M 5x40
12 3 KR501 00-02 W ASH ER 5 x15x1,5
13 3 KR501 00-02 SELF  N UT M 5
14 4 KR501 00-02 W ASH ER 5 x15x1,5
15 4 KR501 00-02 BO LT M 5x45
16 4 KR501 00-02 W ASH ER 5 x15x1,5
17 4 KR501 00-02 SELF  N UT M 5

Parts Li st
ITEM Q TY PART  NUM BER DESCR IPT IO N

NOTE: FOR DETAIL SEE DWG "FASE  
11 -1 -  STEP 11 -1 " OF DRAW ING 
"MONTAGGIO A LA - WING ASSEMB LY"

1

2
333

222
3

4
55

4

4
55

4

1515

11111110

7

1010

666

77

14141414
1515

121212

131313

999

888

1616

17171717

1616

DWG: Fase 11 – Step 11 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



Assembly Manual  Rev 1                         STORM 500 R.G.                               Copyright@ S.G. Aviation  
WING ASSEMBLY –  Retractable Landing Gear 

 
 
 
 
 
 
 
 
 
 
 
 
 

 

 
 

1

1

2

2

3

3

4

4

A A

B B

C C

D D

MONTAGGIO ALA - WING ASSEMBLY

FASE 11-1 -  STEP 11-1
1 1 

 C

S .G. AVIATION                                           STORM RGAdriano Ippati 30/07/2004

  

  

  

A

DETAIL A

(BROKEN VIEW)

Under Side

In Board
Top Side Out Board

B

DETAIL B

THIS DOCUMENT C ONTAINS PR OPR IETARY 
INFORMATION AND IS FUR NISHED IN CONFIDENCE
UNDER  THE EXPRE SS UNDERSTANDING THAT 
NE IT HER IT NOR ANY RE PR ODUC TION MAY BE 
USE D FOR  ANY PURPOSE WITHOUT PERMISSION IN 
WRITING FR OM S. G.  AVIATION SR L TO T HE USER .

259 382
8

11
7

10

19
697

44

44
44

44
44 10

13

839
26

26

26

20
18

.5

BOLT M5x45

BOLT M5x40

BOLT M5x45

BOLT M5x50

 
 

DWG: Fase 11-1  –  Step 11-1 
 
 
 
 


	FITTING THE RETRACTABLE MAIN GEAR FLANGE
	Dimensions
	Torque : Nm

	Profile ISO
	Pitch (milimeter)


